Chemistry Ch 11
Wkst 11 D

1) Using the following equation:

2 NaOH + H2S0O4 < 2 HoO + NaxSO0,4
Ze0, 4 ereess '?3

How many grams of sodium sulfate will be formed if you start with 200, grams of sodium
hydroxide and you have an excess of sulfuric acid? '
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2) Using the following equation:

Pb(S04); + 4 LINO; =2 Pb(NO3)4 + 2 LipSO4
Excess 7% 250 é

How many grams of lithium nitrate will be needed to make 250 grams of lithium sulfate,
assuming that you have an adequate amount of lead (V) sulfate to do the reaction?
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3) To(N0) gy +ZNoTragy =* ZNaNOzcagy + PHT ()
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